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58.  With respect to the Fair and Remunerative Price (FRP), which one of the following statements is not 
correct?  

  (a) It is payable directly to the Sugarcane farmers by the Government of India.  
  (b) It is based on the recommendation of the Commission of Agricultural Costs & Prices (CACP).  
  (c) It is being governed by the Sugarcane (Control) Order, 1966 issued under the Essential Commodities Act.  
  (d) This will be uniformly applicable all over the country.  
59.  For the first time in History, the implementation of the entire 73rd Constitutional Amendment Act was 

completed at which one of the following regions?   
  (a) Ladakh   (b) New Delhi   (c) Chandigarh   (d) Jammu and Kashmir  
60.  Which one of the following statements regarding the Feni river is correct?  
  (a) It is a transboundary river flowing between Bangladesh and Assam.  
  (b) It is a transboundary river flowing between Bangladesh and Tripura.  
  (c) It is a transboundary river flowing between China and Arunachal Pradesh.  
  (d) It is a transboundary river flowing between Myanmar and Manipur.  
61.  Consider the following statements regarding the International Labour Organization.   
 1.  It the first as well as the oldest specialized agency of the United Nations.  
 2.  It was founded under the League of Nations in 1919.  
 3.  This organization has a unique tripartite structure involving representatives from the governments, 

employers, and workers.  
 4.  Only the permanent members of the UN Security Council can chair the Governing Body of this 

organization.  
 Which of the statements given above are correct?  
 (a) 1, 2 and 3 only   (b) 1, 2 and 4 only   (c) 1, 3 and 4 only   (d) 2, 3 and 4 only  
62.  Key “Biodiversity Areas include areas that contribute to the global persistence of biodiversity.”   
 With reference to the above statement, which of the following statements are correct?  
 1.  Key biodiversity areas are identified by the National Biodiversity Authority.  
 2. The criteria for designating a site as Key Biodiversity area have been described by IUCN.  
 3. 531 Key Biodiversity Areas have been identified in India.  
 4. It has been given a legal basis.  
 Which of the statements given above is/are correct?  
 (a) 1, 2 and 3 only   (b) 2, 3 and 4 only   (c) 2 and 3 only   (d) 1, 2, 3 and 4   
63.  Consider the following statements regarding Eco–Sensitive Zone.   
 1.  They are Ecologically Sensitive areas notified under the Wildlife Protection Act.  
 2.  The purpose of creating these zones is to prohibit all human activities around protected areas.  
 3.  The width of the zone and the type of regulation is not defined in the Act and may vary from one 

protected area to another.  
 Which of the statements given above is/are correct?  
 (a) 2 and 3 only  (b) 1 and 2 only   (c) 3 only   (d) 2 only  
64.  One can spot podzols in which of the following biomes?  
  (a) Tropical rainforest biome   (b) Desert biome  
  (c) Boreal biome    (d) Tundra biome  
65.  Consider the following passage  
  “A natural freshwater lake that is the largest natural wetland in Thar desert Bio-eographic province. It 

is a home to different bird species. It is an important stopover site within the Central Asian flyway. The 
wetland is a lifeline for a satellite population of Endangered Wild ass which uses it during the dry 
season. It is an important tourist destination”  

 Which of the following wetland matches with the above passage?  
 (a) Keoladeo Ghana National Park   (b) Nalsarovar Bird Sanctuary  
 (c) Sambar Lake   (d) Khiadiya Bird Sanctuary  
66.  Which of the following factors can be responsible for coral bleaching?  
 1. Cooling of the water temperature in which the corals reside.  
 2. Warming of the water temperature in which the corals reside.  
 3. Exposure to High UV radiation levels  
 4. Excess nutrient from runoff water  
 5. Exposure to air during low tides  
 6. Ocean acidification  
 Choose the correct statements  
 (a) 1, 3, 5 and 6 only  (b) 2, 3, 5 and 6 only  (c) 1, 2, 3, 5 and 6 only   (d) 1, 2, 3, 4, 5 and 6 only  


